MBF3C_Mixed Trigonometry Word Problems 

Examples
1. Football goal posts are measured and found to be 5.5 m apart.  A kicker is to attempt a field goal from a point where the ball is 44 m and 43 m from the two goal posts.  Within what angle must he kick the ball?

2. A pulley is suspended from the ceiling by two chains. One chain is 4.2 m long and forms an angle of 58( with the ceiling. The other chain is 3.8 m long. How far apart are the chains at the ceiling?
Practice

1. From a point, C, on shore, an observer sees two ships at sea. Ship A is 5.6 km from the observer and ship B is 4.8 km from the observer. The angle between the sight lines to the ships is 71o. Determine the distance between the ships.
2. A pulley is suspended from the ceiling by two chains. One chain is 3.6 m long and forms an angle of 62( with the ceiling. The other chain is 4.8 m long. How far apart are the chains at the ceiling?

3. Football goal posts are measured and found to be 5.5 m apart. A kicker is to attempt a field goal from a point where the ball is 51 m and 48 m from the ends of the goal posts. Within what angle must he kick the ball?

4. A football player is attempting a field goal.  The angle formed by the player’s position on the field and a line of sight to each upright is 33(.  If the distance to the uprights are 7.5 m and 10 m, calculate the width of the uprights.


5. The designer of a new city park wants to include three ponds,  

      at A, B, and C, with a fountain in the middle of each pond.

      the angles formed by the fountains are shown, along with

      the distance between the fountains A and B.  

      Determine the distances between the remaining pairs 

      of fountains, to the  nearest metre.

Answers

1) 6 km

2) 5.3 m

3) 5°
4) 5.5 km
5)   a = 105 m,   b = 95 m  
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